

NAME: JOLADE ADEWALE A

MAT: 15/EN907/026

DEPT: PETROLEUM ENGR

COURSE: EN9381

ASSIGNMENT 3

1. If $y = e^{x^2+x}$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = 2e^{x^2+x} + (2x+1)^2 e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'(2x+1) = (2x+1)e^{x^2+x} (2x+1) \\ = (2x+1)^2 e^{x^2+x}$$

$$2y = 2 \cdot e^{x^2+x}$$

$$\therefore y'(2x+1) + 2y = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$\therefore y'' = y'(2x+1) + 2y$$

$$\therefore 2e^{x^2+x} + (2x+1)^2 e^{x^2+x} = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$w = y''$$

$$w^n = y^{n+2}$$

$$p = y'(2x+1)$$

$$v = 2x+1$$

$$u = y'$$

$$v' = 2$$

$$u^n = y^{n+1}$$

$$v'' = 0$$

$$p^n = y^{n+1} \cdot 2x+1 + n \cdot y^n \cdot 2$$

$$s = 2y$$

$$s^n = 2y^n$$

$$w^n = p^n + s^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n //$$

② Using the Leibnitz theorem, given that

① $y = x^3 e^{4x}$ Determine y^5

$$V = x^3$$

$$u = e^{4x}$$

$$V' = 3x^2$$

$$u' = 4e^{4x}$$

$$V'' = 6x$$

$$u'' = 4 \cdot 4 e^{4x}$$

$$V''' = 6$$

$$u''' = 4 \cdot 4 \cdot 4 e^{4x}$$

$$V^{(4)} = 0$$

$$u^{(n)} = 4^n e^{4x}$$

$$y^n = 4^n e^{4x} \cdot x^3 + n \cdot 4^{n-1} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2} 4^{n-2} e^{4x} \cdot 6x$$

$$+ \frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4x} \cdot 6$$

$$y^n = 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + n(n-1) 4^{n-2} e^{4x} 3x + n(n-1)(n-2) 4^{n-3} e^{4x}$$

$$y^5 = 4^5 e^{4x} x^3 + 4 \cdot e^{4x} 3x^2 + 5 \cdot 4 \cdot 4^3 e^{4x} 3x + 5 \cdot 4 \cdot 3 \cdot 4^2 \cdot e^{4x}$$

③ $x^2 y'' + xy' + y = 0$ Show that $x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n = 0$

Let $w = x^2 y''$

$$V = x^2$$

$$u = y''$$

$$V' = 2x$$

$$u' = y'''$$

$$V'' = 2$$

$$u' = y^{(4)}$$

$$V''' = 0$$

$$u^{(n)} = y^{(n+2)}$$

$$w^n = y^{(n+2)} x^2 + n \cdot y^{(n+1)} \cdot 2x + n(n-1) \cdot y^n \cdot x$$

$$w^n = x^2 y^{(n+2)} + n 2x y^{(n+1)} + n(n-1) y^n$$

$$\text{let } p = xy'$$

$$v = x$$

$$u = y'$$

$$v' = 1$$

$$u' = y''$$

$$v'' = 0$$

$$u'' = y^{n+1}$$

$$p'' = y^{n+1} \cdot x + n \cdot y^n \cdot 1$$

$$p'' = xy^{n+1} + ny^n$$

$$s = y$$

$$s' = y^n$$

$$y^{n+2} \cdot x^2 + n \cdot 2xy^{n+1} + n(n-1)y^n + y^{n+1}x + ny^n + y^n = 0$$

$$y^{n+2}x^2 + (n \cdot 2xy^{n+1} + xy^{n+1}) + [n(n-1)y^n + ny^n + y^n] = 0$$

$$x^2y^{n+2} + (2n+1)xy^{n+1} + [n(n-1) + 1 + n]y^n = 0$$

$$x^2y^{n+2} + (2n+1)xy^{n+1} + (n^2+1)y^n = 0$$